
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

2nd Month, 4th Week, 2nd Day Review Exercise 1(b) Q # (1 to 11)

Q.1. Choose the correct options.   (0.5 x 6 = 3)  
(i) The ratio of 2 years to 6 months: 
(a) 1:4 (b) 2:6 (c) 4:1 (d) 1:3

(ii) The comparison of two quantities with same kinds is known as:


(a) rate    (b) ratio       (c) average rate  (d) proportion 

(iii) The value of m in the given proportion is: 6:m :: 5:10

6:m :: 5:10  m 
(a) 12 (b) 30 (c) 25 (d) 15

(iv) Rate of zakat is: 
(a) 1% (b) 1.5% (c) 2.5% (d) 3%

(v) How many natural numbers lies between 22 and 32?

(a) 9 (b) 7 (c) 5 (d) 4

(vi) The ones place in the square of 16 is:  16

(a) 4 (b) 6 (c) 7 (d) 8

 Answer the following questions:  
Q.2. Find the values of variable in the following proportion.     (1x2=2)


(i) a : 6 :: 55:10 (ii) 5 : 4 :: x : 20

Q.3. A train covers 140 km in 2 hours. What will be the speed of train per

hour? Also find in how much distance will it cover in 4 hours?   (1x2=2)

4  140  2 


Q.4. A shopkeeper purchased 20 packets of almonds for Rs. 16000. How

much will he have to pay if he buys 25 packets?     (1x3=3)

 25  1600020 
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